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Algorithm 1 Differential Private Chi-Squared Test

Require: Dataset D the number of Case m10 the number of Control
me [ threshold of chi-squared test 7 ,privacy budget eJ sensitivity of
chi-squared value A

Ensure: binary

1: calculate contingency table cell (a, b) with Dataset D
2: calculate x2 with equation (1)
3:if x2 + Lap(2) > 7 then
4: return l(signiﬁcant)
5: else
6 return O(not significant)
7: end if
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Algorithm 2 Differential Private Chi-Squared Test

Require: Dataset DO the number of Case m10 the number of Control

mo [ threshold of chi-squared test 7 ,privacy budget e

Ensure: binary
: calculate contingency table cell (a, b)* with Dataset D
: calculate ||T'((a, b)?)||2 with equation (10)
: calculate A with equation (12)
2 if |T((a,b)!)]|2 + Lap(2) > 1 then

return |
else

return 0
: end if
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000000 |IT((a+ 1,b)") = T((a,0))][2 O [T ((a +
L)Y —IT((a,b))|.] 00000000000 0000
[T ((a+1,0)") = T((a,5))]3 — I1T((a + 1,5))]l2

= 1T ((a, b)")||2]?

= IT((a+1,b)") = T((a, 5))|I3 = [IT((a + 1,0)")|]3

= 1T ((a, b))I[3 + 21T ((a + 1,5))||2/|T((a, b)) |2 (A5)
T((a+1,0))0 T((a,0)) 000000 AO0D0OO0DO0O0
00000|T((a+1,0)")=T((a,0)")|[5—[|T((a+1,0)")|5—
IT((a,0)")]13 = =2||T((a+1,b)")||2||T((a, b)")||2cos0 O O
000000000 ASDO0000 (A6D0O0D0O0D0

IT((a +1,8)) = T((a,0) )13 = IT((@ + 1,5))]13

= 1T ((a, )13 + 20T ((a + 1,))][21T((a, )] ]2

= 2||T((a + 1,8))||2]|T((a, b)")||2(1 — cosd) > 0 (A.6)
0000|T((a+1,b0)")=T((a,b))ll2 > 1T ((a+1,b)")||2—
IT((a,0)})].] 00000000 DOO0ODO
0007T((a+1,0)") —T((a, b)) 00 (A7) 00007 ((a+
1,b)) —T((a,0)!) 0 (¢,b)) 0000000

T((a+1,b)") — T((a,b)")

AL C Mi—A)
_ R 0 \/C2+(>\1—)A)2 \/C2+()\1—A)2 < 1 >
- . —(M—A c
0 VE/) \Vron-ar Jorou-ar 0
A C
— B C2+ (X —A)? (A7)
A2 —(u—A) ’
R\/c2+(n —A)?

00000 (A4 000000 (A8)000000

max [[|T((a +1, )z = 1T ((a, )")|l2|

IN

IIT((a+1,6)") = T((a,b)")|]2

JG%OL%W(@VEY+(%M_M %Y>
NPT E

0@A8 0000 (¢,b) 000000 (a—1,b),(a,b+
1),(e,b—1)00000000000000(T((a,b)?)|]2
O SensitivityA DO A = /21322 0000

000 (/2522 0 my,me, 7, NOOOO OO OO A, Ae

DDD(é g)DDDDDDDDDDMﬁ%2:A+BD

Ml =AB-C?00000000 (M —A)(\—B)=
000000000D00000000 ROO (A9 D000
0000000

(TmimaN)? (AQ(C + A1 — A2+ A (CH N2 — B)2>
R =

A1 As (02 + (g — A)2)
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(C 4+ 1 — A)?
A (C2 4+ (A — A)2)

4 (C — A1+ A)2
A2 (C2+ (M1 — A)2)

(rmimaN)?
4

20(A; — A)
M(C2 1 (M — A)2)

_ (Tm17TL2N)2 1 1
n 4 A1 Ao

A2(C?2 4+ (A1 — A)?)

_(rmamaN)? (A 4+ X | —2C(0 — A)(A1 — A2)
4 A1 A2 A2 (C2 4+ (A — A)?)

—2C (A1 — A) >

(Tm17TL2N)2 A+B
4 AB - C?

—2C(A\1 — A)(A1 — A2)
+ (AB - C2)(\1 — A)(2\1 — A — B)

_ (tmimaN)? <A+B—2C)

4 AB — C?
_ (TmlTYLQN)2 (m1 + ’I’VLQ)2N
- 4 Tmima(mi + m2)2N
Tm1m2N2

= —F (A.9)

0AD00000000 (A.8) O my,me,, NODODO
00000||vpllz O SensitivityA 00 (A.10) 0000
ooo

A= A1+ X2
R

. (m2 + m2)N + 2rmimo
- TmimoN?2

(A.10)

A3 0043000

00. 0O0DO0DO Sensitivityd AODDOOO Algorithml
0MA,O00000004>0000007>000000
000000000000 {D3(D)=7+400000
0 @O0000 E(Mja,D)00 (A1)DDDODOOO

B(Mia, D) = Prix*(D) + Lap(5) <

= Priap(2) < 4]

€ /*ﬁ TE
= — exp| — |dz
2A J_ o A
—Be

1
= §exP(T) (A.11)

0(A.1)0 A00000000000000000004

00000000EMa,B) < Sexp(=£9) 0000
4>000000>000000000000000

00000 {D|x*(D)=r-4}000000000000

AO0OD0OD0 B(M(A),B) <lexp(2)0000 O

A4 0044000

O0O. Sensitivity 0 Ap 00 00O Algorithm2 0 Maa,
0oo0ooogo g>o000000 r>000000000
000000000 {DX3(D)>r+4}0000000
00000000ooooooooO0g (a,b)0000
00000000 o000 E(Maa,,8)00 (A.12)0
oooooo

B(Maa,, D) = PrIT((a1, b1))lI2 + Lap(52) < 1]

= Pribap(S2) <1 |IT((ar, b))l

€ 1—|IT((a1,b1)") ]2 Te
= / exp| — |dzx

_ 1 ((1* HT((aubl)t)Hz)e)
= 2exp Ar

(A.12)

000 A40000000000000(T((a1,b1)Y)]200

opooboobobo

0 (0000 1,a,b000 f(r,e,b) 0000000
{(a,0)|f(r + B,a,b) > 0} 0 x*(a,b) > 7+ 00000
(a,b) 00000000000 (A2)0000 7,a,b00
0 E(r,a,b)0g(a,b) = mima(a® +b%) —mimoN(a+b) +
2mimeab D0 00O (11)0 ROOODODO f(r+p) 00O
A3)obobobooboooo

f(T+ﬁ7a7b) = f(77a7b) +Bg(a7b)
= E(7,a,b) — R+ Bg(a,b) (A.13)

D000 208 — ||7((a,5:))|3 0000000000
{(a,b)|f(r + B,a,b) >0} 000 (a,b) 00000 (A.14)
0oo0ooo0oooo

E(7,a,b) — R+ Bg(a,b) >0
E(r.ab) | fglab)
R R

(A.14)

ty)12 Bg(avb)
NT((a,0))lz 21 = —p—

oooo1-24Y 0pgn (A15 0000000000

_ Bg(a,b)
R

1

a? +b%> — Na — Nb+ 2ab
Tm1m2N2

_yplatdetb-N) B (A.15)
TN?2 T

=1- 4Bm1m2

=1

000000 {(a,b)|f(T 4 B,a,0) >0} 000 (a,b) 00
00 ||IT((a, b))l >/1+ 2000000

000 (ai,b1) € {(a,b)|f(r+B) >0y 000000
IT((a1,b1)")]]2 > /1 + 2000000

IIT((a1,01))|: 00000 (A12)0000Ma, O 80

00 E(Mya,,D)00000 (Al6)0000000

(1—/1+ £)e

N 1
E(Maa,,D) < 5 exp( A

) (A.16)

000 ||T((a1,b1)")||]2 O SensitivityA OO (12) 0000
000000 (A17) 000000

E(MzAWD) < lexp < ﬂ(1 _ \/1-0-7)
2 2 -

Tmimsa

\/(mf—l—m%)N—&-ZTmlmz) A7
goopg>000000r>000000000000
DDDDDDDD{D|X2(D)§Tfﬁ}DDDDDDDDD

00000000 8000 E(Maa,,D)00 (A17)00
0oooo0o0o0o0o0o0 O
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